SN YSRED
3 UL Ol - 1S AAE 7E(Z3E LT - 219l
CHPl: X - P2 ALTH &5 (Srol: @2
2A - F3 . (3H) - NEAY - B Ol &+ JIEH Hns2
YSPED 6,691,867 6,223,689 468,178
= 55,220 55,220 0
] 1,490,460 1,490,460 0
< 5,146,167 4,678,009 468,178
T O - IS AAE RH(IBIMLY f- 6,517,463 6,067,903 449,560
RTEN
= 55,220 55,220 0
I 1,490,460 1,490,460 0
= 4,971,783 4,522,223 449,560
273 NLTY &S 4,082,080 3,823,520 258,560
= 10,000 10,000 0
I 1,490,460 1,490,460 0
= 2,581,620 2,323,060 258,560
AYBBO AlLEHI22 998,560 740,000 258,560
401 A&HIRLS Y| 468,560 410,000 58,560
01 A& 468,560 410,000 58,560
OAYHI| FREE U HAMDE 100,000 50,000 50,000
OAYEBU(2E) ZLIHE 8,560 0 8,560
405 Rrars S| 530,000 330,000 200,000
01 XHIUSEF S| 530,000 330,000 200,000
©ALI| HHIRE 7Y 500,000 300,000 200,000
HRE SZABNTHH 2H(21) 144,000 144,000 0
p] 43,200 43,200 0
= 100,800 100,800 0
201 Y2 3,000 0 3,000
01 Al 2t2lY| 3,000 0 3,000
OHAF STOABKE A 3,000 0 3,000
207 ALY 31,000 0 31,000
01 eimget| 31,000 0 31,000
CEEEEN=R -l 31,000 0 31,000
01 YerEAF 110,000 144,000 34,000
| 43,200 43,200 0
< 66,800 100,800 £34,000
12 JIEL2 A3 110,000 144,000 A34,000
OAZTEHIN 7= 110,000 144,000 A34,000
g 43,200 43,200 0
= 66,800 100,800 A34,000
ABS5E Yst 2,295,933 2,104,933 191,000
BYAYES (1S5 23 1,970,237 1,779,237 191,000
201 Yer2 Y| 1,161,747 1,096,747 65,000
02 32| 1,068,000 1,003,000 65,000
OALHII(25]) FHIHH & 50,000 0 50,000
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